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Its size is that olives fall out — 29N5T RIS 1P

Overview
R'"97 MWK 7172 72 K101 20 taught that by 0717 795 the MW for it to become MY is
o°n°T X°X13. Our MdOIN explains the w171 of this ruling.
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This is how most of the texts read (2°n°7 X°X12 1My°w) and so it is it also in the
%o of the 11'' and >'"'wn.

mooIN asks:
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And if you will say, but this is a 71w» in 2%%> noo» which states, ‘vessels which
are made for food, their "2 to become 77V is if it is punctured so that it cannot
contain olives’, so what is X1°1 27 teaching us here?!

N190IN answers:
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And one can say that it is necessary for X111 27 to inform us that even if he
designated it to hold pomegranates, it will not be effective, and to exclude from

the view of K29 that if it was D117 71 the MW is (either) 777 XXM or 211 -
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And that is why Xv°wp 7n concludes, in order to explain this ruling, that if it was

o°n°1 X°¥1D they are like stone utensils, meaning that the are °937% in any event
even if they were 221177 7710,

Summary
The novelty of this ruling is that the 3w is 2°n°1 X°X M2 even if D177 17,

Thinking it over
How can we explain the dispute between X217 and X1n 27?3

YOIRNT TV 1T
We shall return to you 13257 P79

!'See n1" who writes 11770 2°n°T X¥M2 2p°1 OX 191 XI1A 27, and 1w 7" "N,
2 See 271272 R 7"72 'oum ",
3 See (°92 7" 0"W WIPR) DRPI UM
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